If a,b,y, M, and N are positive real numbers, a = 1, b = 1,
and p and x are real numbers, then

log, 1 =0 (In1=0)

log, b =1 (lne=1)

log, b* =x (lnex=x)

b =x, x>0 (" =x, x>0)

log, MN =1log, M +log, N
(nMN=1In M+In N)

A o e

M
6. log, — =log, M -log, N (ln%=lnM—lnN)
N N

7. logb M? = plogb M (lnMp=plnM)
8. log, M =log, N if and only if M = N
(nM=InN if andonlyif M=N)

9. log,y M =log M
10. log, M =In M
log, M InM logM

log, M = = =
1. 08 log b In b log b

12. ¥y=b" isequivalent to x =log,y

(y=e" isequivalentto x =Iny)



y=f(x)=e

Domain: (—OO,OO)

Range: (0,)

y-intercept = (0, 1)
Horizontal Asymptote: y =0
lim e" =

X —

Iim e =0

X —> —0©



y=f(x)=log x=Inx

ﬁDmnmn:OLw)

Range: (—OO,OO)
x-intercept = (1, 0)
Vertical Asymptote: x =0
limInx =

X — ©

Iim Inx = -

x—0"



